
Day 1: Review of Prerequisite Skills
Exponential Functions

Graph y = 2X and y = (^)x

Why does it not have any x-intercepts?

'Jj = e? Cs (

rwp \xA~-c. .

Would y = 2X — 4 have x-intercept? Explain.

M'A-

IK*. gr^ k c5 cn ^ tJcTT ref (e-ck^-Zl

Domain:_____ %^c d2- ^_______ Range: G-fc l ^ "Z> Q ^

% | ^ 3

Exponent laws

> Product rule a, “ ~ J

> Quotient rule CL 

CL^
CL

> Power rule V-Car? = a

> Zero exponent

/
O

CL. c- 1
/

> Negative exponent J =C_
---------- - Q_

~ZC-
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Inverse functions:

/(*)= {(1,3), ((-1,5)), (2,4), (5,7)}

Domain: e, _________________

Range:______ 3 j __________________

r\X)= cs,-oy ‘4,0, ^,s^5

Domain: ^ 5~, ^

Range:______ f I ,y 2'< S \

Transformations

In general:
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Quadratic Equations

• Solve by factoring: x2 + 2x — 24 = 0 

C ^+"0 ~ o

caCL-= — 6, 

ac— ^ ^ <q ^

Solve by quadratic formula: y2 + 6y — 5 = 0 ,

-1

ic> = & <L~=~

2^ ct)

^ ~ c, ± -nTTT'

2,

— 6 i v/qJPf
2_

&;£ 2_JTq -3 :t \fTq

7_

Simplify radical expression

a. V8 = vTZT v/^1

2- J~2^

d. 2+V24
2

2_"t v5^~

2-

b. V32 - sTTT \T^

- H- \TL

C. Vl28 = \[64 \fX

2-i 2-v5S
2l

+ \f~&~
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